					Notre : We paid Rs.13/- + 4/- extra = 17/- per sft per big tiles	Notre: We paid Rs.13/	
			s only	Three Rupee	Amount in words Eighty Nine Thousand Five Hundred and Twenty Three Rupees only	Amount in words Eigl	
89523.00					C C	g	,
	800.00	50.00	nos	16.00 nos	Making hole for light and Making hole for light and camera	Making hole for light an	ω
					Q	,	
	46/84.00	17.00	sft	2752.00 sft	Cladding Area	Wall tiles cladding	2
	2010						
	4   909.00	17.00	JIS	2467.00	າg  Flooring Area	Corridor floor tiles laying  Flooring Area	_
	11020 00	17 700	r.	1	at 7th floor- part 2	Corridor Tiles laying at 7th floor- part 2	
			01110	Qualitity	Item Description	Item Head	S.No.
Grand Total	Amount	Rate	Units	Ougntity			2
					02-12-2021		Date:
					K. Narender Reddy	d by:	prepared by:
					Janardhan Prasad	Contractor Name:	Contrac
					Corridor Tiles laying at 7th floor- part 2	Work Description:	Work D
					May Flower Platinum		Project:
					MPL	Company Name:	Compar
						ESTIMATE SHEET	ESTIMA

Company Name: Project Work Description Contractor Name	Company Name: Project   Work Description: Contractor Name:	MPL May Flower Platinum Corridor Tiles laying at 7th floor- part 2 Janardhan Prasad Janardhan Prasad						
Contractor N	Name:	K Narender Reddy						
Date		02-12-2021		P		В	В	ВС
2	Item Head	Item Description	Length	gth	gth	+	ANIOUT	Width
S.NO	Corridor Tiles laying at 7th floor- part 2	Flooring a	50	8	7.00	7.00	7.00 1.00	7.00 1.00 1
_	Corridor Big tiles laying - Flooring	L	64.00	00	9.00		9.00	9.00 1.00
		CS OND	42.50	50	-	7.00	7.00	7.00
		C4 opp	45	45.00	675	+	6.75	6.75 1.00 1
		C2 to C3 flats	4.	1000	+	10.00	10.00	10 00 1.00
		staircase		16.00	+	0.00	0.00	0.00
		Total Flooring Area						
		Walls cladding			-	-	400	400 2
2	Walls Tiles cladding	R4 flat to B3 flat	50.00	S	100	100	100 4.00	100 400 2
		B3 to C6 flat	64.00	3 8	-	100	100 4.00	100 4.00 2
		C6 to C5 flat	17.00		+	+	1.00 4.00	1.00 4.00
			45.00		-	1.00	1.00 4.00	1.00 4.00 2
		C1 to C4	45.00		+	1.00	1.00 4.00	1.00 4.00
		C 2 to C3	10.00		H	1.00	1 00 4 00	1.00 4.00 2
		Electrical ducts	10.75	101	100	+	100	100 8.50 8
		Main Doors	10.00	0			1.00	1.00 8.50
		VRF AC window						
		Deduction	3.50	ő	1.00	1.00	1.00 7.00	1.00 7.00
		Doors	3	3.50			1.00	1.00 4.00
		VRF AC Window	50	5.50	50 1.00	1.00	1.00	1.00 4.00
		Doors						
		Total Wall Cladding Area						
	to light and camera	Making hole for light and camera	16.00		0 1.00		1.00	1.00

## Bill for Equipment Allowance Janardhan

Kakatiya nagar, Neeredmet Hyderabad

Date:02-12-2021

In favor of:

MPL

Project / Site:

**MFPP** 

Location: Type of Work:

82/1. Mallapur Corridor Tiles laying at 7th floor- part 2 Allowance for Equipment

Towards:

S No.	Description	Amount
1.	Brief description of work done Corridor Tiles laying at	
	7th floor- part 2	Rs.35809=00
	Total amount =Rs 89523=00	
	Work done from date 18-11-2021 to 27-11-2021	

Amount in words: Thirty Five Thousand Eight Hundred and Nine rupees only.

Sign:	

## **Bill for Consumables**

Janardhan Kakatiya nagar, Neeredmet Hyderabad

Date:02-12-2021

In favor of:

MPL

Project / Site:

**MFPP** 

Location:

82/1. Mallapur

Type of Work:

Corridor Tiles laying at 7th floor- part 2 Allowance for Consumables

Towards:

S No.	Description	Amount
1	Brief description of work done Corridor Tiles laying at	
	7th floor- part 2	Rs.17905=00
	Total amount =Rs 89523=00	
	Work done from date 18-11-2021 to 27-11-2021	

Amount in words: Seventeen Thousand Nine Hundred and FIve rupees only.

Sign:	
-------	--

## Bill for Labour charges

Janardhan

Kakatiya nagar, Neeredmet

Hyderabad

Date:02-12-2021

In favor of:

**MPL** 

Project / Site:

**MFPP** 

Location:

82/1. Mallapur

Type of Work:

Corridor Tiles laying at 7th floor- part 2

Towards:

Allowance for Labour charges

S No.	Description	Amount
5 110.	Brief description of work done Corridor Tiles laying at	
l.		Rs.35809=00
	7th floor- part 2	<b>K</b> 3.33003 00
	Total amount =Rs 89523=00	
	Work done from date 18-11-2021 to 27-11-2021	

Amount in words: Thirty Five Thousand Eight Hundred and Nine rupees only.

Sign:	
-------	--

## Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register	(0)	28		Date Regis	- site bi ter	lls	2-12	-2021
Company Name:	MP	l-		Site:			may flo	we plat
Name of Contractor	•	broni	han	Pic	sod		V	
Nature of work		Tiles			y w	21/5		
Work done	From D	ate		11-2	) T	o Date	27-	11-2021
SI. Villa/Flat/block no.		′,	Rate		Units	Amou	ınt	Contractors bill no
1. laying at 7th 2. Placer Part-2								
3. consider floor								
4. tiles layin 5. wall tiles	9 24	+67	17		SFE	41,9	39	
6. Cladding	2	152	17		SFL	46,	184	
0	210							
8. for light o		16	50		nos	80	0	
10.						40		
	Γotal:			CCT	21.211		523 =∞	-NO.
Bill required		MO.			bill req			
Measurement & estimate sheet:	☑ Req	uired required			suremen		≅Enclo □ Not e	nclosed
PO/WO no.	1,00			PO/	WO date	2:		
Remarks :	l			1.7.				
Approved by Project N	<b>M</b> anager	App	roved	by De	sign Tea	ım A	pproved b	y M.D.
Approved by Project N Date: 2   2 202		App		by De	sign Tea		pproved b	y M.D.

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable—fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

Contractor Signs Janahan Presad.